Homework 10 Ztankun Luo Due : Dec 02, 2020 Problem 1  $a, \quad \mu_{t} = k_{uxx} \quad ocx < l, t > 0$   $u_{x}(0,t) = u_{x}(l,t) = 0, t > 0$   $U(x,0) = f(x) \quad 0 < x < l$ Solution: Set  $U(x,t) = \Sigma C_n \cdot X(x) T_n(t)$  $\Rightarrow \frac{T_n'}{kT_n} = \frac{X_n''}{x} = -\lambda_n$  $B_{C} = X'_{n}(o) = X'_{n}(0) = 0$  $B_{C} = \chi'_{n}(o) = \chi'_{n}(l) = 0$   $= \int T_{n}^{\prime} = -\lambda_{n} k T_{n} \Rightarrow T_{n} = e^{-\lambda_{n} k T_{n}}$   $= \int \chi'_{n} = -\lambda_{n} \chi_{n} \Rightarrow \chi_{n} = \cos(\sqrt{\lambda_{n}} \chi) \Rightarrow \chi_{n} = \cos(\frac{n\pi}{L} \chi)$   $= \chi'_{n}(o) = \chi'_{n}(l) = 0 \qquad J_{\lambda n} l = n\pi \qquad \lambda_{n} = \frac{n^{2}\pi^{2}}{l^{2}} \qquad n = 0, 1, 2, \cdots$   $= n \in \mathbb{Z}^{*}$ Then,  $\mathcal{U}(\mathbf{X},t) = \sum_{n=0}^{+\infty} C_n \cdot X_n(\mathbf{X}) T_n(t)$ =  $\sum_{n=0}^{+\infty} C_n \cdot \cos(\frac{n\pi}{L} \mathbf{X}) e^{-k \frac{n^2 \pi^2}{L^2} t}$  $IC: U(X,0) = \stackrel{+\infty}{\Sigma} C_{n} \cos(\frac{N\pi}{L}X) = f(X)$ For n=0  $C_0 = \frac{\int_0^L f(x) \cdot 1 dx}{\int_0^L 1 \cdot 1 dx} = \frac{1}{L} \int_0^L f(x) dx$ For n>0  $C_n = \frac{\int_0^1 f(x) \cos(\frac{n\pi}{L}x) dx}{\int_0^1 \cos^2(\frac{n\pi}{L}) dx} = \frac{2}{L} \int_0^1 f(x) \cos(\frac{n\pi}{L}x) dx$ To sum up:  $U(x,t) = \frac{1}{L} \int_{0}^{t} f(x) dx + \sum_{n=1}^{+\infty} \left[ \frac{2}{L} \int_{0}^{L} f(x) \cos\left(\frac{n\pi}{L}x\right) dx \right] \cos\left(\frac{n\pi}{L}x\right) e^{-k \frac{n\pi\pi^{2}}{L^{2}}t}$ 

b. 
$$\int U_{t+1} = c^{2}U_{xx} - a^{2}U \quad o < x < l, t > p$$

$$U(o, t) = U(l, t) = 0 \quad t > o$$

$$u(x, o) = f(x) \quad U_{t}(x, o) = o \quad o < x < l$$
Solution: Set  $U(x, t) = \sum C_{n} \cdot X_{n}(x) T_{n}(t)$ 

$$\Rightarrow \frac{T_{n}^{n}}{c^{2}T_{n}} + \frac{a^{2}}{c^{2}} = \frac{X_{n}^{n}}{X_{n}} = -\lambda_{n}$$

$$BC: \quad X_{n}(o) = x_{n}(l) = 0$$

$$T_{n}^{n} = -(\lambda_{n}c^{2}+a^{2}) T_{n} \Rightarrow T_{n} = C_{n} \sin(\int_{h} \frac{1}{c^{2}a^{2}}t) + C_{n2} \cos(\int_{h} \frac{1}{c^{2}a^{2}}t)$$

$$\int X_{n}^{n}(a) = x_{n}(l) = o \quad \Rightarrow X_{n} = \sin(\int_{h} \frac{1}{c^{2}}x_{n}) = \lambda_{n} = \sum_{n < n < n} \frac{1}{2} \sum_{n < n < n} \frac{1}{2} \sum_{n < l} \frac{1}{2} \sum_{n < l}$$

$$U(x,t) = \sum_{h=1}^{+\infty} \left[ \frac{2}{L} \int_{0}^{L} f(x) \sin\left(\frac{n\pi}{L}x\right) dx \right] \sin\left(\frac{n\pi}{L}x\right) \cos\left(\sqrt{\frac{n\pi}{L}^{2}c^{2}+a^{2}}t\right)$$

## Problem 2

Transform the problem  

$$\begin{aligned} & \forall t = \forall x \quad o < x < \pi, t > o \\ & \forall (0,t) = 3, \forall (\pi,t) = 1 \\ & \forall (x,o) = f(x) \end{aligned}$$
Into one with homogeneous boundary conditions  
Solution:  $Let \quad u(x,t) = \forall (x,t) + (C_1 x + C_2)$   

$$\begin{aligned} & When \quad \left[C_1 x + C_2\right] \middle|_{x=\sigma} = 3 \\ & f(c_1 = \frac{2}{\pi}) \\ & (C_1 x + C_2) \middle|_{x=\pi} = 1 \end{aligned}$$
Then  $\forall t = \forall t , \forall x = \forall x \neq 3 \forall t = \forall x \\ & B_{C}: \forall (o,t) = u(o,t) - [C_1 x + C_2] \middle|_{x=\sigma} = 3 - 3 = 0 \\ & \forall (\pi,t) = u(\pi,t) - [C_1 x + C_2] \middle|_{x=\sigma} = 3 - 3 = 0 \\ & \forall (\pi,t) = u(\pi,t) - [C_1 x + C_2] \middle|_{x=\sigma} = 1 - 1 = 0 \end{aligned}$ 
To sum up:  $\forall (x,t) = u(x,t) - [C_1 x + C_2] \middle|_{t=\sigma} = f(x) - [C_1 x + C_2) \\ & = u(x,t) + \frac{2}{\pi} x - 3 \end{aligned}$ 

$$\begin{aligned} \forall t = \forall x \quad \forall c < x < \pi, t > o \\ & \forall (o,t) = 0, u(\pi,t) = 0 \\ & \forall (x,o) = f(x) + \frac{2}{\pi} x - 3 \end{aligned}$$

## Problem 3.

Transform the problem with a source term  $1^{u_t = u_{xx} + sin(\frac{x}{2})}$   $1^{u_{(0,t)=0}} = u(\pi,t)=0$  u(x,0) = f(x)into a nonhomogeneous problem, solve the problem When f(x) = 1

Solution :

Set 
$$U(X,t) = V(X,t) + W(X)$$
  
where  $\int \frac{d^2 w}{dx^2} + \sin\left(\frac{x}{2}\right) = 0$   
 $w(x) = -\frac{1}{4}\sin\left(\frac{x}{2} + \frac{1}{4\pi}x\right)$ 

Then for 
$$U(x,t) \equiv U(x,t) - W(x)$$

$$\int_{1}^{1} U_{t} = V_{xx}$$

$$\int_{1}^{1} U(0,t) = 0, \quad U(\pi,t) = 0$$

$$V(x,0) = f(x) - w(x) = f(x) + \frac{1}{4} \sin(\frac{x}{2}) - \frac{1}{4\pi}$$

when fixi=1

Set 
$$U = \sum C_n \chi_n(k) T_n(4)$$
  

$$\Rightarrow \frac{T_n}{T_n} = \frac{\chi_n^n}{\chi_n} = -\lambda_n$$

$$\Rightarrow \int T_n^{-1} = -\lambda_n T_n \qquad \Rightarrow T_n = e^{-\lambda_n 4}$$

$$(\chi_n^{n} = -\lambda_n \chi_n) \qquad \Rightarrow \chi_n = \frac{g_n}{J_n \pi} (J_{\lambda,n} \chi) \qquad \chi_n = \sin(n\pi \chi)$$

$$\chi_n(0) = \chi_n(\pi) = 0 \qquad J_{\lambda,n} \pi = n\pi \qquad \lambda_n = \frac{h^2 \pi^2}{h \epsilon_2 4}$$

$$\Rightarrow U = \frac{f_n^{n}}{0} \left[\frac{1}{4} \sin(\frac{\chi}{2}) - \frac{1}{4\pi} \chi + 1\right] \sin(n\pi \chi) d\chi$$

$$= \frac{f_n}{T_n} \int_0^{\pi} \left[\frac{1}{4} \sin(\frac{\chi}{2}) - \frac{1}{4\pi} \chi + 1\right] \sin(n\pi \chi) d\chi$$

$$= \frac{2}{\pi} \int_0^{\pi} \left[\frac{4\pi^4 n^3}{4\pi^3 n^2} - \frac{3\pi^2 h}{2\pi^3 n^2}\right] \frac{f_n^{n+1}}{4\pi^3 n^2}$$

$$= \frac{f_n^{n+1}}{2\pi^4 n^2}$$

$$(U(\chi,t) = U + w(K))$$

$$= \sum_{n=1}^{2\infty} C_n \cdot \sin(n\pi \chi) e^{-n^2 \pi^2 4} + \left(-\frac{1}{4} \sin(\frac{\chi}{2}) + \frac{1}{4\pi} \chi\right)$$

Problem 6 Bonus  
Diffusion constant D  
Josefun rate : Y  
Jength : L  

$$U(D,t):=U(L+1)=0$$
  
 $U(x_1,0) = f(x)$   
Solution: Set  $U(x_1,t):= \sum C_n X_n(x) T_n(t)$   
 $\Rightarrow \frac{T_n'}{DT_n} - \frac{r}{D} = \frac{X_n''}{X_n} = -\lambda_n$   
 $BC: X_n(0) = X_n(1) = 0$   
 $\Rightarrow \left( T_n' = -D\lambda_n - F \right) T_n \Rightarrow T_n = e^{-(D\lambda_n - F)t}$   
 $\int X_n'' = -\lambda_n X_n$   
 $X_n(0) = X_n(1) = 0$   
 $\Rightarrow \left( T_n' = -D\lambda_n - F \right) T_n \Rightarrow T_n = e^{-(D\lambda_n - F)t}$   
 $\int X_n(0) = X_n(1) = 0$   
 $\Rightarrow \left( T_n' = -\lambda_n X_n \right) X_n = Sin(Jx_n X) X_n = Sin(\frac{h\pi}{L} X) X_n(0) = X_n(1) = 0$   
 $\Rightarrow \int T_n' = -\lambda_n X_n$   
 $\int X_n(0) = X_n(1) = 0$   
 $\Rightarrow \int T_n' = -\lambda_n X_n$   
 $\int X_n = \lambda_n X_n$   
 $\int X_n$ 

We know that

$$\begin{aligned} |u(x,t)| &= \left| \int_{0}^{L} G(x,s,t) + (s) ds \right| \\ &\leq \int_{0}^{L} \left| G(x,s,t) + (s) ds \right| \\ &\leq \int_{0}^{L} \left| G(x,s,t) + (s) \right| ds \\ &\leq \left| \frac{2}{L} \sum_{n=1}^{\infty} e^{-\Gamma D \frac{n^{n} \pi^{n}}{L^{2}} - r \right| t} \right| \cdot \int_{0}^{L} |f(s)| ds \\ &\leq \left| \frac{2}{L} \sum_{n=1}^{\infty} e^{-\Gamma D \frac{n^{n} \pi^{n}}{L^{2}} - r \right| t} \right| \cdot \int_{0}^{L} |f(s)| ds \\ &When. \quad L < \pi \int_{\mathbb{T}} \frac{P}{L} \implies |-\frac{\mu L^{2}}{D \pi^{2}} > 0 \\ \Rightarrow D \frac{n^{n} \pi^{n}}{L^{2}} - r = D \frac{\pi^{2}}{L^{2}} (n^{n} - 1) + D \frac{\pi^{2}}{D \pi^{2}} (1 - \frac{rL^{2}}{D \pi^{1}}) \\ &\mathcal{T} D \frac{\pi^{2}}{L^{2}} (3(n-1)) + \frac{D \pi^{2}}{L^{2}} (1 - \frac{rL^{2}}{D \pi^{2}}) \\ &\geq \frac{1}{2} \sum_{n=1}^{\infty} e^{-\left(D \frac{n^{n} n^{2}}{L^{2}} - r\right) t} \leq \frac{2}{L} e^{-D \frac{\pi^{2}}{L^{2}} (1 - \frac{rL^{2}}{D \pi^{2}}) t} \\ &= \frac{2}{L} \frac{1}{L - e^{-D \frac{\pi^{2}}{L^{2}}} 3t} e^{-D \frac{\pi^{2}}{L^{2}} (1 - \frac{rL^{2}}{D \pi^{2}}) t} \\ &W hen t = \frac{1}{L - e^{-D \frac{\pi^{2}}{L^{2}}} 3t} \\ &= \frac{1}{L - e^{-D \frac{\pi^{2}}{L^{2}}} 3t} = 0 \\ &= \frac{1}{L - e^{-D \frac{\pi^{2}}{L^{2}}} st} \Rightarrow 1 \quad , e^{-D \frac{\pi^{2}}{L^{2}} (1 - \frac{r^{2}L^{2}}{D \pi^{2}}) t} \Rightarrow 0 \\ &= \frac{1}{L - e^{-D \frac{\pi^{2}}{L^{2}}} st} = 1 \quad , e^{-D \frac{\pi^{2}}{L^{2}}} (1 - \frac{r^{2}L^{2}}{D \pi^{2}}) t = 0 \\ &= \frac{1}{L - e^{-D \frac{\pi^{2}}{L^{2}}} st} = 1 \quad , e^{-D \frac{\pi^{2}}{L^{2}}} \left| \frac{r^{2}}{L - e^{-T}} \right| \cdot \int_{0}^{L} |f(s)| ds = 0 \end{aligned}$$

## Journal.

Compare and contrast the "separation of variables" method for the ordinary differential equations (Section 1.3) and for the partial differential equations (Section 6.4). Discuss what the common ideas behind the two methods, and what the special features of the equations are for the idea to work.

## Solution:

The common ideas behind the two methods are converting the original problem to the solvable problem. For the separation of variables in ODE, the ODE equation is converted to the problem of finding integrals on both sides of equations. For the separation of variables in PDE, the PDE solution is written as the weighted sum of fundamental solutions, i.e. the products of X(x) and T(t). We convert the PDE equation to multiple ODE equations.

The special feature of "separation of variables" in the PDE equations is that the PDE equations have to be linear equations.